(RN
<

a(d cot(B))

(8 ) (rad)

3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[—=— DQM original_StepZ_Tbar-phasel-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
- = 1
IS IS
S A
> ;N
o]
o 107! o
o [s]
f 1071
107 gk
: 102}
910[.32:' .!.. I‘. o soefiild
= E A = E 1
I$] =2 RE 4 I$] EH1-fF -5
¢ “E u ; : ¢ “E
1 i I 1,
0.9F i 0.9F{-fr -3
0.88} ; . ; 0.8E
=3 -2 0 1 2 3 =3
TP n (PCA to beamline) TP n (PCA to beamline)

&

a0 p,/p,)

107

1072

Jhl
L.

1.058 1- -

Ratio

0.95p-1- -
0.9

73
TP n (PCA to beamline)



	Contents
	Page 1


